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lasunan 1 (n.a.-5.0.) 5 50,650
lasunai 2 (w.a.-ia) 9 16,900.00
lasunad 3 (we.-i.8.) 5 36,650.00
lnsunan 4 (n.a.-n.e.) 0 .

S7uveRY 7 104,200.00

e

(eEINTURTUN  BUE)

RIS

Q.\.\_\ﬁ,\.ﬂ Je=

(U19aMNTITIN UIznaau)
yrauwngdrungnsiivey AWM slusuvue
A8 TLHNETUIAUAL

fuituveu

=

(wwemshald alamedde)
T NauULNFYNT I

FLEUDNLY

s =

(weunvéifn agquitena)

wswwidassuguiaiayisud

AouiiRuny

0, ¢ | SN



i § =] -
o w ) ¥ 7] a o & a
e Sammsldtounds 3 U | Binwns %.wsu._:j B lasnan 1 | lasunai 2 | lasuai 3 lasunan 4 yaRs T ABaTI
oo < : Uszanaums e i WTD ! ' X (A.a.- 5.0 | (u.a-3a) | (e- f.e) | (h.a- ne)
A1aun FIUER d.ﬂﬂu_ ﬂ 59 ﬂ 60 ﬂ 61 Aad > Wueg 344..”_9&3._ 62
‘ Ry Tudl 62 140 62 duau | yadn (U
W78ty gna i (uw) (u) U 4
1 |mewenadn 30 ml 2,900.00
¢ 0 o) 1,000 1,000 1,700 2,000 300 2,000 1.45 o 1,000 : 1,000 2,000 2,900.(
2 LSl 4 ;
QanaERnFuNg 6x12 lu 48,000 | 41,000 60,000 - 1000 0.40 - - - -
3 loawanafindiunid 9x18" v 30000 | 60,000| 40,000 2 0 0.90 s : A -
4 lamanadn@asdula)exs cm nn 7 6 10 30 120.00 ; : i 5 :
5 mﬁ._m;.mm:am @UY)x6 cm an. 5 5 6 40 : 130.00 -
6 =
INAA An. q - 26 - 120.00 - :
7 PG .
TaTERY nn. - - 15 120.00 . -
- - 21 000.00
8 |awmnadinwasdula)gx12 cm nn. 250 250 250 260 12 250 | 12000 3000099 100 - 150 : 250] 30,000
s gavanain(wowula)iixls cm nn 30 85 110 100 13 70 120.00 B 40 - 30 - 70 8,40C
- e 00
10 Jgawenadin(wesdula)5x23 cm nn. 50 150 119 120 a3 S0 120.00 Wm0 50 = 40 - 90 10,80C
n ﬂﬁ.a,mm:_.ﬂm;,&%mmochnB an. 2 20 2 = 0 120.00 ‘ - - -
12 T S ) " 2
Ezzwgmﬁj,&@x&drm.mewmnB nn. 25 * 25 120.00 - . w B ‘
13 lgmenafinieas@udu)Bx12 cm ne. 2 10 4 10 2 ’ 120,00 ’ 2 : - =
ey J : 35,200.00 .
aFninpsfvRaInet Yuim 85x6.1 cml @na 168,000 | 168,000 | 220,000 290,000 68000] 160,000 0.22 120,000 40,000 160,000 35,20
15 Lafanat Y 4,400.00
a@nineiprepack YuIABX5 CM. A4 60,000 | 30,000 30,000 40,000 0 20,000 0.22 - 20,000 - 20,000 4.4C
& 12,500.00
16 linsupen 31x6 mm Ay - i 1,000 2,000 0 2,500 5.00 S = 2,500 = - 2,500 12,5¢
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